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Note :	 This paper is of Eighty (80) marks divided 
into Two (02) sections A and B. Attempt the 
question contained in these sections according 
to the detailed  instructions given therein.

uksV %	 ;g iz'u i=k vLlh (80) vadksa dk gSA tks nks (02) [k.Mksa 
d rFkk [k esa foHkkftr gSA izR;sd [k.M esa fn, x, 
foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy dhft,A

Section-A/[k.M&^d*
(Long Answer type Questions/nh?kZ mÙkjh; iz'u)

Note :		 Section-‘A’ contains Five (05) Long answer  
type questions of Twenty (20) marks each. 
Learners are required to answer any two  
(02) questions only.	 (2×20=40)
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uksV %		 [k.M&^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn, x, 
gSa] izR;sd iz'u ds fy, chl (20) vad fu/kZfjr 
gSaA f'k{kkfFkZ;ksa dks buesa ls dsoy nks (02) iz'uksa ds 
mÙkj nsus gSaA

1.	 What do you mean by Management Accounting ? 

How does it differ from Financial Accounting ? 

Give limitations of Management Accounting.

	 izcU/dh; ys[kkfof/ ls vki D;k le>rs gSa\ ;g foÙkh; 
ys[kkadu ls fdl izdkj fHkUu gS\ izcU/dh; ys[kkfof/
dh lhek,¡ nhft,A

2.	 What is Cash Flow Statement ? How is it prepared ? 

Discuss its main uses and limitations.

	 jksdM+ izokg fooj.k D;k gS\ bls dSls rS;kj fd;k tkrk 
gS\ blds eq[; mi;ksx ,oa lhek,¡ crkb,A

3.	 From the following information you are required 

to prepare a Balance Sheet :

	 Working Capital	  75,000

	 Reserve and Surplus	  1,00,000

	 Bank Overdraft	  60,000

	 Current ratio	 1.75 : 1

	 Liquid ratio	 1.15 : 1

	 Fixed assets to proprietor’s fund	 0.75
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	 fuEufyf[kr lwpukvksa ls vkidks vk£Fkd fpV~Bk rS;kj 
djuk gS%

	 dk;Z'khy iw¡th	  75,000

	 lap; ,oa vkf/D;	  1,00,000

	 cSad vf/fod.kZ	  60,000

	 pkyw vuqikr	 1.75 : 1

	 rjy vuqikr	 1.15 : 1

	 Lokeh dks"k% LFkk;h lEifÙk	 0.75

4.	 There are two projects each requiring an 

investment of 1,50,000. Each project has an 

expected life of 5 years and each would be 

depreciated on a straight line basis. The tax rate 

is 50%. The residual value of assets is zero. The 

following table shows annual gross earnings :

Year	       Annual profit before depreciation and tax

		  Project A	 Project B

	 1	 65,000	 45,000

	 2	 55,000	 45,000

	 3	 45,000	 45,000

	 4	 32,000	 45,000

	 5	 32,000	 45,000
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	 Evaluate both projects by using :

	 (i)	 Pay back period.

	 (ii)	 Accounting rate of return.

	 nks ifj;kstuk,¡ izR;sd   1]50]000 dk fofu;ksx pkgrh 
gSA izR;sd ifj;kstuk dk vuqekfur thou dky 5 o"kZ 
vkSj izR;sd ij ewY;ßkl lh/h js[kk i¼fr ls yxrk gSA 
dj dh nj 50» gSA lEifÙk dk vo'ks"k ewY; 'kwU; gSA 
fuEufyf[kr lkfj.kh ok£"kd ldy vtZuksa dks izn£'kr 
djrh gS%

ok£"kd	                 ßkl ,oa dj ls iwoZ ok£"kd ykHk

		  ifj;kstuk A	 ifj;kstuk B

	 1	 65,000	 45,000

	 2	 55,000	 45,000

	 3	 45,000	 45,000

	 4	 32,000	 45,000

	 5	 32,000	 45,000

	 nksuksa ifj;kstukvksa dk ewY;kadu fuEukafdr dh lgk;r ls 
dhft,%

	 (i)	 iquZHkqxrku vof/

	 (ii)	 izR;k; dh ys[kkadu njA
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5.	 The Balance Sheet of a Limited Company as on 

31st March, 2018 and 31st March, 2019 were as 

follows :

Liabilities	 31.03.18	 31.03.19

Share Capital	 45,000	 65,000

General Reserve	 5,000	 7,500

P&L A/c	 10,000	 15,000

Debentures	 10,000	 20,000

Creditors	 8,700	 11,000

	 78,700	 1,18,500

Assets	 31.03.18	 31.03.19

Fixed Assets	 46,700	 83,000

Stock	 11,000	 13,000

Debtors	 18,000	 19,500

Cash	 2,000	 2,500

Prel. Exps.	 1,000	 500

	 78,700	 1,18,500

	 Prepare a schedule of changes in working capital 

and statement of sources and application of 

funds.
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	 31 ekpZ] 2018 ,oa 31 ekpZ] 2019 dks ,d fyfeVsM 

dEiuh ds vk£Fkd fpV~Bs fuEu izdkj Fks%

nkf;Ro	 31.03.18	 31.03.19

va'k iw¡th	 45,000	 65,000

lkekU; lap;	 5,000	 7,500

ykHk&gkfu [kkrk	 10,000	 15,000

Í.ki=k	 10,000	 20,000

ysunkj	 8,700	 11,000

	 78,700	 1,18,500

lEifÙk;k¡	 31.03.18	 31.03.19

LFkk;h lEifÙk	 46,700	 83,000

LVkWd	 11,000	 13,000

nsunkj	 18,000	 19,500

jksdM+	 2,000	 2,500

izkjafHkd O;;	 1,000	 500

	 78,700	 1,18,500

	 dk;Z'khy iw¡th esa ifjorZu dh vuqlwph rFkk dks"kksa ds 

Ïksr ,oa iz;ksx dk fooj.k rS;kj dhft,A
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Section-B/[k.M&[k

	 (Short answer type questions/ y?kq mÙkjh; iz'u)

Note : 		 Section-B Contains Eight (08) Short answer 

type questions of Ten (10) marks each. 

Learners are required to answer any four (04) 

questions only.	 (4×10=40)

uksV %		 [k.M&^[k* esa vkB (08) y?kq mÙkjh; iz'u fn, x, 

gSa] izR;sd iz'u ds fy, nl (10) vad fu/kZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy pkj (04) iz'uksa ds 

mÙkj nsus gSaA	

1.	 What is Comparative Financial Statement ?

	 rqyukRed foÙkh; fooj.k D;k gS\

2.	 Explain the concept of Net Profit Ratio and Net 

Operating Profit ratio.

	 'kq¼ ykHk vuqikr vkSj 'kq¼ lapkyu ykHk vuqikr dh 

vo/kj.kk dks le>kb,A

3.	 What is meant by Weighted Average Cost of 

Capital ? Illustrate your answer with assumed 

figures.

	 iw¡th dh Hkkfjr vkSlr ykxr ls D;k rkRi;Z gS\ vius 

mÙkj dks dfYir leadksa ls le>kb,A
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4.	 Explain the objectives and various techniques of 

Inventory control.

	 LdU/ fu;a=k.k ds mís';ksa ,oa fofHkUu rduhdksa dh foospuk 

dhft,A

5.	 Differentiate between Cost Centre and 

Responsibility centre.

	 ykxr dsUnz ,oa mÙkjnkf;Ro dsUnz esa vUrj dhft,A

6.	 Define and explain the term ‘Capital structure’.

	 ^iw¡th&lajpuk* 'kCn dh ifjHkk"kk nhft, ,oa bls 

le>kb,A

7.	 How do you calculate the Net Present value of a 

Project ?

	 ,d ifj;kstuk ds 'kq¼ orZeku ewY; dh x.kuk vki dSls 

djsaxs\

8.	 Explain the concept of Operating and Financial 

Leverage.

	 lapkyu ,oa foÙkh; mÙkksyu dh vo/kj.kk dks 

le>kb,A

*******


